ITEM NO.6 DESSCRIPTION QUANTITY
1 Assy fixed panels 1
2 Filter 2
3 Filter _retention_strip 8
4 92mm_PC fan 2
5 LED_strip_100mm 2
6 LED strip_350mm 2
7 Switch_ DPST_H8550XBAAA 1
8 Potentiometer 10k 2
9 Control_knob 2
10 DC_jack connector_female 1
11 Assy_Electronics_Board 1
12 Wiring 1
13 Circuit_board_standoff 4
14 Hex Socket Flanged Button Head Screw - M4x30 8
15 Pozidrive Pan Head Screw - M2x12 4
16 Threaded _bar_M8x460mm 1
17 Plain Hex Nut - M8 2
18 Plain Washer - M8 6
19 Hex Socket Flanged Button Head Screw - M8x40 2

20 Hinge_bushing 4

DO NOT SCALE DRAWING REVISION
TITLE: )
Assy_fixed
SCALE:1:8 SHEET 1 OF 2
y)




ooo

mi

0N @ﬂ

DO NOT SCALE DRAWING REVISION A
Assy_fixed A
SCALE:1:8 SHEET 2 OF 2



